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PHYSICAL EDUCATION
PAPER - 11I

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  In Schmithals-French Field Hockey Skill Test, final regression equation is
(A)  x,=0.38x; +0.17x, + 0.48x; — 1.62

(B)  x,=0.83x; +0.71x, + 0.48x; — 1.26
(C) xy=0.17x; + 0.83x, + 1.62x; — 0.84
(D) x,=0.71x; + 0.38x, + 1.26x; — 0.43

2. In a lever, if force arm is 4 mts and resistance arm is 6 mts, then how much force is
required to lift a load of 10 kg ?

(A) 10N (B) 24N
(C) 6.67TN (D) 15N
3.  The study of the principles of being is concerned with
(A) Metaphysics (B) Epistemology
(C) Axiology (D) Ethics
4.  Carbon dioxide formed in the tissue oxidation is transported through blood as
(A) carbonic acid (B) lactic acid
(C) oxy-haemoglobin (D) carboxy-haemoglobin

5. Leadership is a behavioural process which focuses on
(A) developing and maintaining good behaviour
(B) influencing individuals and group toward set goals
(C) situational characteristics of the group
(D) setting goals and getting the job done.

6.  The core objective of intramurals for a student is to
(A) derive learning experience through participation of sports competition both as a
competitor and a spectator
(B) provide diversion, recreation, entertainment and relaxation
(C) serve as a stepping stone for extramural competition
(D) encourage social interaction among students

7.  Basically a problem for the nature of truth is

(A) Ethics (B) Axiology
(C) Law (D) Epistemology
8.  The discovery method of teaching is best exemplified by
(A) Play activities (B) Rote learning
(C) The open textbook lesson (D) Independent study projects
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10.

11.

12.

13.

14.

15.

16.

When evaluating the curriculum, likes and dislikes, value judgements and problem areas :
(A) Should be identified by children only, not the teacher.

(B) Should be confined to specific curricula areas only.

(C) Inappropriate because only objective assessments are appropriate.

(D) Fall under the banner of “Subjective Assessment”.

Essential amino acids are best described as those amino acids that are

(A) Naturally occurring substances that function in fighting infection

(B) Required for protein synthesis but most cannot be made by the body
(C) Important components of carbohydrates, fats and proteins metabolism
(D) High-energy nutrients that promote growth and development

The width of the Foot-rest of starting block is increased from

(A) 120 to 150 mm (B) 120 to 140 mm

(C) 120 to 160 mm (D) 120 to 130 mm

If mean of a data is 26.40, standard deviation is 2.34, then the Z-value of score 23.46 will be
(A) +1.26 B) -1.62

(C©) -1.26 (D) +1.62

The art of getting things done through people is

(A) Classical approach to explain the concept of management

(B) Functional approach to explain the concept of management

(C) Modern integrational approach to explain the concept of management
(D) Neo classical approach to explain the concept of management

Golfer’s elbow refers to

(A) inflammatory condition of anterior epicondyle of the elbow
(B) inflammatory condition of posterior epicondyle of the elbow
(C) inflammatory condition of medial epicondyle of the elbow
(D) inflammatory condition of lateral epicondyle of the elbow

Characteristics of a standardized test are

L Reliability II.  Validity

III.  Subjectivity IV. Creativity

Select the correct answer :

(A) TIand II are correct. (B) II and III are correct.
(C) I and IV are correct. (D) 1V and I are correct.

Renowned physical educationists have mentioned several objectives of physical education
L Development of physique

II.  Development of neuromuscular coordination

III. Development of good human relationship

IV. Development of social qualities

V. Development of good citizenship

Select the correct combination of the remote objectives of physical education using the
codes given below :

Codes :
(A) Tand IV (B) IIand III
(C) IVandV (D) IDand V
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e I T e it TerdT ¥ IR 76T o qREdt Sevl 1 Wt gyead g ;
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(A) ITmIV (B) IIaerII
(C) IvaaVv (D) NIdV
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17. Women athletes who are using anabolic steroid are inviting health hazards relating to :
L Liver dysfunction
II.  Muscle atrophy
III.  Breast cancer
IV. Infertility
V.  Growth of male secondary sexual characteristics
VI. Bouts of Migrain
Find out the correct combination from the following codes :
(A) II, III and VI are correct.
(B) I,IVandV are correct.
(C) 1L, IV and V are correct.
(D) I, I and VI are correct.

18. Which of the following combination is correct ?
. Volume = m?

II.  Mass density = kg m™>

III.  Acceleration = ms=

IV. Luminance = cd/m?

V.  Specific volume = m3 kg~!

(A) I, TMandV (B) 1 II IIT and IV

(©) ILILIVandV (D) LIVandV

19. For developing emotional maturity emotional skills are :
L Self awareness
II.  Controlling impulses
III. Resisting negative influence
IV. Delaying gratification
Select the correct answer.

Codes :
(A) 1&II B) M&IV
(C) 1&III D) T&IV

20. Elements of Professional Ethics includes :
L Creating Pleasant Environment
II.  Follow Dress Code
III.  Punctuality and Regularity
IV. Making other responsible
V. Providing a sense of Individuality to the student
Find out the correct answer from the codes given below :
(A) Only I IT and IV (B) OnlyIl, Il and V
(C) Only [, II, IIT and IV (D) All are correct.

Paper-111 6 D-47-14



17. ﬁg@k—rﬂﬁr ST TR eSS SEAT Al ¢, 3¢ @ oy = § 9 fhag defud &
?
I I%d 6 GE HRE T HEA
[I. U9 & Sier gFr
[ =87 HeR
IV. aiEe=
V. 59 I Get foeiearsti o o
VI. HEUE % Feeh
=1 e ¥ W& ™ T HiST |
(A) 1L 3R VIEE & |
B) LIVIARVTEE |
(C) ILIVIAR VT |
(D) L U3 VITEE |

18. Tr=feiEe § @ i |1 GHESH Tl & 2
. 3T = m?
II. ¥&ld & = kg m™
M. TR =ms2
IV. o = cd/m?
V. faRTe e = m3 kg!
(A) LT3RV (B) I, 1L III 3 IV
(C) IL L IV 3RV (D) LIV3RV

19. eI TRl & (e o el WerTIedeh HIAa &
| R = 1)
I.  3TE & ==
1. “ThRIcH TS i b
IV. URAoT & 2T
Fe T TEl ST 997 BT
T
(A) 13RI (B) I 3RIV
(C) I3RIII (D) WAV

20. SO Afcehdl § GiHfed ¢
I &% YR FH G
I 39 SIS H SR
[l TEEeEgar Y Fatdar
IV. TERI o STREMIEYOT ST
V. T o Satedehar & e WA

FE T TEl ST H 997 BT
(A) FaA L, 13RIV (B) e 11, III 3T V
(C) a1, 11, I 3T IV (D) SUrE g
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21.

22.

23.

24.

Fat soluble vitamins are :

L Vitamin A II.  Vitamin C

III. Vitamin D IV. Vitamin B

V. Vitamin K VI. Vitamin E

Find a correct combination according to code :

Codes :

(A) LILIand IV (B) I, IV, Vand VI
(C) HOIL IV, Vand VI (D) L I,V and VI

In case of top level athletes, periodization is characterized by
L Higher proportion of conditioning and tactical training
II.  Double or triple periodization

III.  Shorter preparatory and longer competition periods.
IV. Lower frequency of competition

Codes :

A T&IV

B) IO &II
C) &IV
(D) T&III

The research needs to clearly identify the aim of the study; the question to be answered;
the population of interest; information to be collected and feasibility in order to decide on
the research :

L Design II.  Purpose
III.  Assumption IV. Method
Codes :

(A) TandII

(B) Tand1V

(C) Mand Il
(D) IMMand IV

Successful organization of intramural competition depends on several factors :
L Facilities available

II.  Funds available

III. Cooperation of stakeholders

IV. Providing refreshment

V.  Seeking medical advice

Select the correct combination from the codes given below :

Codes :
A) 1L 1L IV (B) ILIV,V
©) LIV,V (D) L 1II, 11

Paper-111 8 D-47-14
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22.

23.

24.

9T H goreiet foeif €

[ foaf= A II. fam™=C

. faa@= D Iv. o= B

V. faaaK VI. faef=E

T T TETAAT | Tl TS 1T B :

YA

(A) LIL I AR IV (B) IL IV, V 3R VI
(C) IIL IV, V 3R VI (D) LI V 3R VI

SR faenteat & WY § SHlcTesheigdl i [o9iuand gl &
I 3o e gieRT TRTE0T o IsdaX STATd

I TgoRole svren Freruie serashagar

[l o7 TR HIeT TAT ol Ufeeqe hieT

IV. Yiqeer s 9 SRR

T

(A) Iqaarlv

(B) IIaarIIl

(©) NIaariv

(D) Iaarlll

ITHYM H 3T % 35S T T ¥ SRS e i STewaehel eidl &; 9T T IR
T B, BT 1 TH, U bl ST el ger iR ffafad & saam & dey o ol
@ Wl FIEE

| S = T I v

M. e Iv. fafg

T

(A) 13RI

(B) 13RIV

(C) 13RI

(D) W 3ARIV

IR UG T WheT TSI g ShRehl U YT ohdT &
I 3Ycley graemd

. Suorsy [t
[I. R ey H T
IV. STA-UF Sl Uy

V. Tfewher e

FT T TE 3T 1 997 HITT :

®:

(A) 11, 1L, TV (B) ILIV,V
(©) LIV,V (D) L II III
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25.

26.

27.

28.

There are some considerations in selecting equipments :

L Should be of standard quality

II.  Should be repairable

III.  Should be economical

IV. Should be transferable

V.  Should be of optimal utility

Select the correct combination from the codes given below :

Codes :
(A) L II, III B) LILV
© IILIV,V (D) II, III, IV

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : A concept of probability concerning the comparative likelihood of two or
more events occurring.

Reason (R) : Probability describe the confidence that is placed in the statistical
findings.

In the context of the above statements, which one of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Movement speed is of utmost importance in cyclic events.

Reason (R) : Movement speed is most frequently improved indirectly by improving
technique, explosive strength etc.

In the context of the above statements, which one of the following is true ?

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : For elite athletes group training plan ensures optimum development.
Reason (R) : Group plan helps in identifying talent.

In the context of two statements, which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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26.

27.

28.
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IV. 3 SFRoE & |
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(C) (A) T g, W (R) T & |

(D) (A)7Tod €, T (R) W& |
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29.

30.

31.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Principles of measurement in education evaluation are raw scores,
percentile ranks, standard scores etc.

Reason (R) : Evaluation yield information regarding the worthiness, appropriateness,
goodness, validity and legality.

In the context of the above statements, which one of the following is true ?
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not a good explanation of (A).
(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Norm is a standard set of scores with which an obtained score is
compared.

Reason (R) : Datais interpreted through different statistical techniques.

In the context of the above two statements, which one of the following is correct ?
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C©) (A)istrue but (R) is false.

(D) (A)is false but (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : One of the major objectives of intramurals is to provide opportunity to
talented to develop and exhibit student’s potential fully and achieve
excellence.

Reason (R) : The so-called outstanding athletes often neglect studies and repeat classes
much to the discomfort of their parents and teachers.

In the context of above two statements, which one of the following is correct ?
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) (A)is true, but (R) is false.

(C) (A)is false, but (R) is true.

(D) Both (A) and (R) are true.
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29.

30.

31.
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32.

33.

34.

35.

Given below are two statements, one labelled as Assertion (A) and the other as Reason (R) :

Assertion (A) : Personnel management, infact, is the nucleus of the total managerial
process because, the man, neither the material nor the machine, is the
ultimate factor under all conditions.

Reason (R) : The best organisations and programmes sometimes face disgrace and
disaster because of inefficient personnels.

In the context of the above the statements, which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Physical education is education through the physical.

Reason (R) : Aim of physical education is the alround development of personality of
the individual.

In the context of above two statements, which one of the following is correct ?

Codes :

(A) (A)is true, but (R) is not the correct explanation of (A).

(B) (A)is true and (R) is the correct explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :
Assertion (A) : VO, max is considered as the best indicator of cardio-respiratory

endurance and aerobic fitness.

Reason (R) : Oxygen is the limiting factor in endurance performance and ability to
consume more oxygen is limited by genetic factor.

In the context of the two statements, which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other as

Reason (R) :

Assertion (A) : During high intensity short term exercises energy supply to the working
muscle is made by ATP-PC and lactic acid system.

Reason (R) : Through Kreb cycle and Electron transport system sufficient ATP is
produced.

In the context of two statements, which one of the following is correct ?

Codes :

(A) (A)is true, but (R) is false.

(B) Both (A) and (R) are true, but (R) is not correct explanation of (A).

(C) (A)is false, but (R) is true.

(D) Both (A) and (R) are true and (R) is the correct explanation of (A).
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36.

37.

38.

39.

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : When studying planar dynamics it is easier to begin with a static planar.
Reason (R) : The segment will have no muscle forces acting on it.

In the context of two statements, which one of the following statement is correct ?

Codes :

(A) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is the correct explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : To perform layout somersault (frontal) is difficult.

Reason (R) : The somersault (frontal) axis is the intermediate principal axis, hence
rotations about it are unstable.

In the context of the above two statements, which one of the following is correct ?

Codes :

(A) (A)is true, but (R) is false.

(B) (A)is false, but (R) is true.

(C) Both (A) and (R) are true and (R) is the correct explanation of (A).

(D) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Participant-centered source of motivation in sport is to examine the
personal dispositions which are closely linked to high motivational state.

Reason (R) : Individuals with high probability to be motivated will not exhibit
motivational ability unless the situation or environment is conducive for
this to happen.

In the context of two statements, which one of the following is correct ?

Codes :

(A) (A)is correct and (R) is wrong.

(B) (A)is correct and (R) is not the correct explanation of (A).

(C) (A) and (R) both are wrong.

(D) (A)is wrong and (R) is correct.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Assertive behaviour involves the use of legitimate physical and verbal
force to achieve one’s purpose, which is acceptable as proactive assertion.

Reason (R) : The purpose is to achieve desired goal and in which harm to another
person occurs only because it is the most efficient way.

In the context of two statements, which one of the following is correct ?

Codes :

(A) (A)is correct, but (R) is wrong.

(B) (A)is wrong, but (R) is correct.

(C) (A)is correct, but (R) is not the correct explanation of (A).

(D) Both (A) and (R) are wrong.
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40.

41.

42,

43.

Given below are two statements, one of which is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : In community sports, physical educators should advise parents and
community leaders.

Reason (R) : Children develop their physical skills within the limits of their potentials.

In the context of two statements, which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : The major ways of studying personality in sports and exercise are
concerned with trait situation and interactional approach.

Reason (R) : Simply by knowing an individual’s personality traits will not always help
to predict how the individual will behave in a particular situation.

In the context of the above two statements, which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is the correct explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :
Assertion (A) : Recreation activity can be valuable preventive of mental and emotional

ill health.

Reason (R) : People suffering from mental disorders react quickly to the stimulus of
play, music.

Which one of the following statements is true ?

Codes :

(A) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Given below are two statements, one is labelled as Assertion (A) and the other is labelled

as Reason (R) :

Assertion (A) : Democracy and recreation are alike in spirit.

Reason (R) : Democracy is committed to giving each individual the opportunity to
grow, express, and achieve fully. Recreation offers the individual
opportunity for genuine satisfaction, creative expression and his
development in attaining democracy objectives.

In context of the above two statements, which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Paper-I11 18 D-47-14



40.

41.

42.

43.

et 57 e fSU S W) T, FTHE @ vem Wi e (A) 3R fgdig ot e (R) el T
AMTHUT (A) : RIS Gell | VRN 9181 bl T1al-far e gogiiaes Saret i mRel 3=

MY |
aF (R) : S 3O AT <t T & TR 370 IIRINGD HRICATR b foIehrg et & |
T FUA & A | T T F B T W e 2

YA

(A) (A) 3T (R) IHT &t € 31X (A) FT (R) Tel AT & |
(B) (A) 3 (R) IHT Tel €, R (A) HI (R) el ARAT T € |
(C) (A) g, W (R)Tod & |

(D) (A) Tod &, T (R) T&l & |

e 37 e [T T € | U T AT (A) T TEL ol SHROT (R) &l T E

AMTBUT (A) : Tl Ud AW | AR & 3Te4T T THE T TN STaeT TS 31k
ST E |

HROT (R) : g TRt SAfoRT o SAfoRTeel & WEeg CeToT bl STHhRI Ted JarTaH o=
T e T8l erd, foh sated ue fam uftfefa § {69 Uehr 1 s9aeR 3T |

S T AT o T H i AT Th el € 2

FT :

(A) (A) 3T (R) IHT W&t €, R (R), (A) T Hel TILIHIT & & |

(B) (A) 3 (R) IHT el € 3T (R), (A) FT TEl TR & |

(C) (A)TWEE, W (R) T € |

(D) (A)Tewd &, W= (R) &I & |

el 51 e SU ST W@ €, T @ e i e (A) 3R fgdia o ae (R) e T e
HIUHYT (A) : FARSH Tl HHGH T HETeHs @R il Ab § e g 8

T |
a® (R) : UH T ST AR I 9 dited & o Wol, d o SR & Ui ehear o
TR e A © |
Trfetiad & 9 i 91 %2 et € 2

E A

(A) (A) &R (R) 3 Tl €, W= (A) i (R) el = e ¢ |
(B) (A) 3T (R) IHT T&l € 31X (A) FT (R) Tel AT & |
(C) (A) W g, W (R) oA & |

(D) (A) 7o &, =g (R) W& € |

e g1 e foU T €, Uk i ST (A) S 5 W deh (R) TET TR E

ATFHHT (A) : A X TR T H TAAE |

a® (R) : T HT g ¢ Uohod ¢ b Uedsh At o STveafer, forspr SR gutar o
% FIER f§F SN | TARSH AR H el qfte, GomeAd ATt 31T
BT ST i T o foIw o o e7eR fqa e |

T 3 FUAl % G H TEl 2 BT T HINTT |

TN

(A) (A) 3R (R) T T&l &, T (A) & (R) Tt A1 6l ¢ |

(B) (A) 3T (R) IHT T&t € 31X (A) FT (R) Tel AT & |

(C) (A) T ¢, W (R) T & |

(D) (A) 7o &, W] (R) TEl & |

D-47-14 19 Paper-I111



44.

45.

46.

47.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Ex-post facto design is a static group comparison but with the treatment
group not under the control of the experimenter.

Reason (R) : Participants receive treatment followed by a test to evaluate the treatment.

In the context of two statements, which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Match the terms of List — I with that of List — II and indicate perfect matching out of
ABCD below :
List -1 List - II
L Phagocytosis 1 Plasma protein
II.  Agglutinogen 2. Thrombocytes
III.  Albumin 3. Erythrocytes
IV. Thromboplastin 4 Leucocytes
5

V. Haemoglobin Blood grouping
Codes :
I 1II 1 Iv v
(A) 3 4 5 1 2
B) 4 5 1 2 3
) 4 1 2 3 5
(D) 5 2 3 4 1

Find the correct sequential order of a muscle contraction to occur :
L Release of acetyl cholin

II.  Action potential

III. Depolarization

IV. Acto-myosin complex

V. Nerve impulse generated

Codes :
(A) V,ILILI IV B) ILLV,IV, I
O V,ILIOLIV,I (D) ILIL V, I IV

Arrange the following in a sequential order based on the steps in designing a health
education lesson plan :

L Developing instructional objectives and evaluation measures that the congruent.
II.  Identifying several teaching strategies that encourage teacher modeling and student
participation.

III.  Setting scope and sequence parameters for the topic.
IV. Determining the general focus for the lesson plan.

Codes :
(A LIV, 1L 1 B) ILILIIL IV
O HILLIV, I D) IV, 1L LI
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48.

49.

50.

S1.

Paper-I11

Select the correct sequence of the stages of deduction research from the following :

(A)
(B)
©

D)

Hypothesis worded, theory developed, hypothesis tested on data, observation made,
theory revised

Theory developed, hypothesis worded, observation made, hypothesis tested on data,
theory revised.
Observation made, theory developed, theory revised, hypothesis worded, hypothesis
tested on data.

Observation made, hypothesis worded, hypothesis tested on data, theory developed,
theory revised.

Match List — I with List — II and select the correct answer from the code according to
Selman (1980) Stages of Interpersonal Reasoning :

List -1 List - II
L Stage 1 1. Multiple role taking
II. Stage?2 2. Social information role taking
III.  Stage 3 3. Social and convertional system taking
IV. Stage 4 4.  Self-reflective role taking
Codes :

I 1II 1O 1Iv
(A) 2 4 3 1
B) 1 3 4 2
©) 1 3 2 4
(D) 4 2 3 1

Which of the following sequences of hip and knee movements normally occurs in the
stance phase of running ?

(A)
(B)
©
D)

Both extend then both flex then both extend.

Both flex then both extend then both flex.

Both flex then the hip extends while the knee flexes then both extend.
Both extend then the hip flexes while the knee extends then both flex.

Arrange leadership theories as they were propagated in chronological order :

L Fielder’s contingency model

II.  The life cycle theory (Hersey & Blanchard)

III. The multidimensional model (Challadurai & Carron)
IV. Tannenbaum & Schmidt’s model

Codes :

(A) ILILIV,I

B) IV,LI, 11

O© LILIL IV

(D) UL IV, L1
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Il =WOr3 3. WHIe e aRaca e Jgor s
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FT
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51. =1 Agcet TasTl 1 HeshHar 9 § T
I ThioE & SR T
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(A) ILILIV,I
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(©) LILIILIV

(D) HOLIV,LII
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52. Arrange the correct sequence in determining the body composition of a person like :
L Weighing of body in air
II.  Under water weighing
III. Lean body mass
IV. Body density
V. Fat weight
VI. Fat percentage
Among them the components which are directly involved in body composition are
A ILLILIV,VI&V
B) LILIV,VLV &I
(C) 0L V,IV, 1,V & VI
(D) VLV, IV,IILI&I

53. Match List — I with List — II and select the correct option from the codes given below :
List -1 List - II

L. Olympic festival 1.  Honour of Zeus, the Supreme God
II.  Pythia festival 2. Honour of Apollo, the God of Light and Truth
III. Nemea festival 3. Honour of Zeus at Argolis
IV. Isthmi festival 4. Honour of Posedion, the God of the Sea
Codes :
I 1II 1O 1Iv
(A 1 3 2 4
B) 1 2 3 4
©) 1 4 2 3
(D) 1 2 4 3

54. Match List — I with List — II and select the correct option from the codes given below :
List -1 List - II
L Gregarious 1 Disgust
II.  Submission 2 Humility
III.  Acquision 3. Feeling of loneliness
IV. Repulsion 4
Codes :

I I oo Iv

Feeling of ownership

A 1 2 3 4
@) 3 4 1 2
© 3 2 4 1
M 2 3 1 4
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55. Match List — I with List — II and select the correct option from the codes given below :
List -1

L

II.
I11.
IVv.
V.
Code

(A)
(B)
©
D)

o cells of islets of Langerhans

B cells of islets of Langerhans

Hormone released from anterior pituitary
Hormone released from adrenal cortex
Hormone released from posterior pituitary
S :

|
5
5
4
4

I

w N A~ A

I1I

N = W N

v

—_ N = =

\Y4
3
2
3
5

List - II
Leutenizing hormone
Glucocorticoid

1

2

3. Oxytocin
4 Glucagon
5

Insulin

56. Match the terms of Group — I with that of Group — II. Indicate perfect matching out of (A),

(B), (C), (D) below :
Group -1

L

1L
I11.
IV.
V.
Code

(A)
(B)
©
D)

Synaptic cleft
Myosin
Sarcolemma

Actin

Sarcoplasm

S <

DN W W U =

I

N AN A

I1I

W W K~ =

v

—_— N N

Group - 11
Endomycium
Troponin

Endoplasmic reticulum
Cross bridge

Cholin esterase

A\
3
1
1
4

57. Match List — I with List — II and select the correct option from the codes given below :

L
IL.
I1I.
IV.

(A)
B)
©
D)
Paper-I11

List -1

Radio-ulnar Joint

Hip Joint
Knee joint
Shoulder Joint
Codes :

W N W

I

—_— N W A

I1I

NS S

v

W = =N

1
2.
3.
4

List - II
Cruciate Ligament
Glenohumeral Ligament
Annular Ligament
Ligament Teres
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NS e S
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]
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]
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[ fear s I
II. e 4ty
I ge &l G
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F:

I
A) 3
B) 2
< 3
D) 4
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58. Match List — I with List — II and select the correct option from the codes given below :
List -1 List - II
L Biceps long head 1 Coracoid process of scapula
II.  Biceps short head 2.
III.  Triceps long head 3.  Infraglenoid tubercle of scapula
IV. Triceps short head 4 Supraglenoid tubercle

Posterior humerus

Codes :

| om I 1Iv
A 1 2 3 4
B) 4 1 3 2
o 1 3 2 4
D) 1 4 2 3

59. Match List — I with List — II and select the correct option from the codes given below :
List -1 List - II

I.  Authoritarian leadership style 1. Reinforcement by its consequences
II. Democratic leadership style 2. Based on relationship between individual and
environment
III. Behavioural leadership style 3. Achievement oriented approach
IV. Humanistic leadership style 4. Delegative approach
Codes :
I IO oo v
(A) 3 4 1 2
B) 1 2 3 4
< 2 3 4 1
(D) 4 1 2 3

60. Match List — I with List — II and select the correct option from the codes given below :
List -1 List - II

L Transfer of training 1. Condition affecting transfer generalization

II.  Intent of transfer 2. Transfer of learning that occur between two limbs

III. Bilateral transfer 3. Bilateral transfer with greater amount of transfer one
limb than from other

IV. Asymmetric transfer 4.  Effect of practice of one task on the learning of second
task.

Codes :

I IO oo 1v

(A) 3 2 1 4

B) 4 1 2 3

© 1 4 3 2

(D) 2 3 4 1
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61. Match List — I with List — II and select the correct option from the codes given below :

List -1

I Vitamin B,

II.  Vitamin C
III. Vitamin D
IV. Vitamin E

Codes :

| I
(A 1 2
B) 2 3
<) 3 4
(D) 4 1

N = B~ W

Sl

W N =

List - II

Growth

Anti-oxidant
Functioning of Nerve
Collagen formation

62. Match List — I with List — II and select the correct answer from the codes given below :

List -1
I Exercise

II. Bio-energy

III. Food
IV. Health
Codes :

I 1I
(A) 1
B) 4
<© 3
D) 2

W B~ =N

I1I

o= W

.

—_ N W B

List - II
Adenosine tri-phosphate
The source of all body energy
A basis for survival
Anchor of health

63. Match List — I with List — II and select the correct option using the codes given below :

List -1

L Ideo-motor training

II.  Zero competition

III. Practice under normal conditions

IV. Precise feedback

Codes :

| I
(A) 3 4
B) 1 2
< 4 3
D) 1 3

Paper-I11

I1I

DD W

IV

B o= RN =

List — IT
1.  III phase of technique training
2. II phase of technique training
3. Training break due to injury
4.  Iphase of technique training
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64. Match List — I with List — II and select the correct option from the codes given below :

List -1 List - II
L Perception and analysis of competition situation 1. Step-III
II.  Finding a mental solution of tactical task 2. Step-IV
III. Execution of tactical action 3. Step-I
IV. Finding motor solution of the tactical task 4. Step-II

Codes :

I I II 1Iv
(A) 4 3 2 1
B) 3 4 1 2
O 1 2 3 4
D) 2 1 3 4

65. Match the methods in List — I with data sources in List — II and select the correct option

using the codes given below :

List -1 List - II

L Surveys 1.  Documented-questions and answers with program
participants

II. Interview 2. Trained-observer’s field notes

III.  Observations 3. In-depth interviews and longitudinal observations of a
particular case, group, event or program

IV. Case study 4.  Participant-questionnaires, surveys, and check-lists.

Codes :

I O oo 1v

(A 1 2 3 4

B) 2 3 4 1

) 3 4 1 2

(D) 4 1 2 3

66. Match List — I with List — II and select the correct answer from the codes given below :

List -1
L Testing hypothesis 1
II.  Deductive method 2.
III. Inductive method 3.
IV. Hypothetico-deductive method 4
Codes :

I IO oo 1v
A 1 3 2 4
B) 2 4 1 3
<© 3 1 4 2
(D) 4 2 3 1
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Francis Bacon
Scientific method
Christian Huggenes
Aristotle
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67. Match List — I with List — II and select the correct option from the codes given below :

List -1
L Motor Educability Test

II.  Motor Ability Test
II.  Agility Test
IV. Cardiovascular Efficiency Test

Codes :
|
(A 3
B) 4
< 2
D) 4

I

W = W

I1I

—_— AN =

v

N W =

List - II
‘T’ Drill Test
Copper’s 12 minutes run / walk Test
[.LO.W.A. Test
J.C.R. Test

68. Match the List — I with List — II and find the correct answers using the codes given below :

List-1

I Goniometer

II.  Vernier caliper
III.  Wet spirometer
IV. Ergometer

Codes :
|
(A) 3
B) 4
<© 2
D) 2

11

W B~ W A

I1I

B~ W o=

10"

—_— = N =

Sl

List - IT

Vital capacity

Muscular potential

Body diameter
Flexibility

69. Match List — I with List — II and select the correct option from the codes given below :

II.  Principle of supervision
III.  Function of supervision

IV. Guideline
teaching lesson

Codes :
|
A) 1
B) 2
<) 3
D) 2

Paper-I11

I

—_— Rk W

List -1
L Technique of supervision

to

I1I

~ = B~ W

supervise

IV

W N = B

sl -

List - IT
To provide continuous appraisal of performance
Visitation
To develop confidence in student-teacher

To act as a link between the educational
institution and the educational administration
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70. Match List — I with List — IT and select the correct option from the codes given below :
List -1 List - II

L Nutrition 1. Exposure to parasitic agents
II. Hygiene 2. Amount of energy used at complete rest
III. Biological hazard 3. Science which deals with food and its use by the body
IV. BMR 4.  Artof living
Codes :
I O oo 1v
(A) 4 2 3 1
B) 2 1 4 3
) 3 4 1 2
D) 1 3 2 4

Axiology is the scientific study of the theory of values. Humankind’s survival from
stresses is not so much dependent on biologic nature as on their value system because values
shape philosophy and philosophy influences not only the way people think but also the way they
act. Operationally speaking, values are concerned with preference. Preference motivates people
to action and initiates behaviour.

Values may be classified in many ways. One of the category concerns good and bad, right
and wrong. They are generally referred to as moral and ethical values. An act is good or bad is
based on an ethical principle and ethical principles are justified on the basis of higher ethical
principles which are for the good of humankind.

Another category of values involves choosing among alternatives, both abstract and
materialistic, where the choices are neither inherently bad nor good. These values are
individualized, highly personal and can vary. The fact that one chooses to exercise or not is also
a value and ultimately it might become an ethical value if, when tested by a universal law, it can
be rationally shown that such a choice involves the sacredness of life and personality. It is this
later possibility of being able to apply moral reasoning and judgement that makes a behaviour
an ethical act for the individual.

One characteristic of a societal value is that it must be constantly interpreted and promoted
from one generation to the next. Values are not passed on in the genes through heredity. They
are however, inherent in the culture into which one is born and which one must learn or acquire
as a point of each new generation. An individual is not born with an ethical code but must
develop that code which seems to follow a pattern of advancement through hierarchic levels.
This code must be learned either directly through teaching or indirectly by association or
imitation. It has been pointed out that sport and games provide an active, dramatic and
microcosmic learning climate for the acquisition of values by the young.

The development of value system is a life-long process and is philosophically formulated.

It beings at an early age and continues to develop with each new experience throughout life.
Modification is always occurring, therefore it is dynamic process.

71. Select the correct option :
Values are based on
(A) Biological aspects (B) Religious aspects
(C) Behavioural aspects (D) Philosophical aspects
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72.

73.

74.

75.

Identify two ways of classification of values from options given below :
L General and specific

II.  Good and bad

III.  Abstract and materialistic

IV. Inherited and acquired

Codes :
(A) 1&II B) M&IV
(C) &I D) I&IV

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Individualized and highly personal values involve choosing among
alternatives.

Reason (R) : These can be good or bad, right or wrong.

In the context of two statements, which one of the following is correct ?

Codes :

(A) (A)is correct, but (R) is not the correct explanation of (A).

(B) (A)is correct and (R) is the correct explanation of (A).

(C) Both (A) and (R) are wrong.

(D) (A)is wrong but (R) is correct.

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) : Societal value must be constantly interpreted and promoted from one
generation to the next.

Reason (R) : As it must be acquired as a part of each new generation.

In the context of two statements, which one of the following is correct ?

Codes :

(A) (A)is correct and (R) is correct explanation of (A).

(B) (A)is correct but (R) is not the correct explanation of (A).

(C) (A)is correct but (R) are wrong.

(D) (A)is wrong but (R) is correct.

Match List — I with List — II and select the correct answer from codes given below :

List -1 List - II
L. Learning of values 1 Ethical act
II.  Value modification 2. Continuous process
III. Development of values 3. Dynamic in nature
IV. Moral reasoning and judgement 4 Association and imitation
Codes :

I 1II 1O 1Iv

(A) 4 3 2 1
B) 2 1 3 4
) 3 4 1 2
D) 1 2 4 3
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(A) (A) el &, el (R), (A) i T&l =T el € |
(B) (A) W & 3 (R), (A) Tl W&l =AW € |

(C) (A) 3R (R) I W&l =i € |

(D) (A) T &, el (R) T&l & |

74, T <1 e R €, S @ U iR (A) SR T a6 (R) ©
AMFAT (A) : TSI Jod I Tad AR B STHT @MU 37 39 Uh gl ¥ qE 9l °§
=Tt feohalm ST =T |
& (R) : i 28 Ucdeh 1S UIgl & 91T & & § AT fhaT ST 1T |
UG <1 Al & v § ffefad § 9 e a8l § 2

£ T

(A) (A)TEE AT (R), (A) H T AT |

(B) (A) Wl &, el (R), (A) &l &l A& &1 € |
(C) (A)WElE, eiferd (R) T & |

(D) (A) T &, wifeh (R) TRl € |
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e -1 = - 11
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I I I IV
A 4 3 2 1
B 2 1 3 4
C© 3 4 1 2
™ 1 2 4 3
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